
Grade 5 

Maths 

Addition 
 
1. Work out: 
 
(a)  5 4 3 1 7  (b)  1 8 9 5 7 

 + 2 1 4 5 0   +  5 4 0 8 

 
 

              

______________________________________________________________________ 
 
2. Find the sum of  45 786  and  32 250 . 
 
 
 
 
 
 Answer: __________. 
______________________________________________________________________ 
 
3. At a concert, there are  25 641  men and  17 538  women.  How many adults are 

 there in all at the concert ? 

 
 
 
 
 
 Answer: __________ adults. 
______________________________________________________________________ 
 
4. Bob has  Rs 19 643.  Sarah has  Rs 2 500  more than Bob.   
 
(a) How much money does Sarah have ? 
 
 
 
 
 Answer: Rs __________. 
 
(b) How much money do they have altogether ? 
 
 
 
 
 
 Answer: Rs __________. 


